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Precalculus
5.3 Homework
Odd Answers

sin(x+y) _sinxcosy+cosxsiny

sin xcos y sin xcos y

_ sinxcosy N cos xsin y

sinxcosy sinxcosy

=l+cotxtany

cos(x+y) cosxcosy—sinxsiny

COS XCOS y COS XCOS y

_cosxcosy sinxsiny

COSXCOSY COSXCOSY

=]—-tanxtany

sinasin f

I+tanatanff _ 1+ acoss

tana+tan f  sne 4 30/

cosa cosf3

sinasin f
[ 1+ acs |[ cosacos B
sine 4 S0P cos g cos B

cosa cos

_ cosacos f+sinasin f
sinacos ff +cosasin f

_cos(a—p)
sin(a+ B)

cos(2x) = cos (x+x)
= COS XCOS X —sin xsin x

=cos’ x—sin’ x

J6 -2 _J3+1 ~J3-1 J2
NO-VZ 3. 5. 7. M=
4 1+/3 1-/3 2
V3 13. —sina 15, 93 17, Y15 +2
2 65 6

9. tan(
18

)



